HOWTO6e    (by Joe Erdeky, erdeky@inbox.com)   

This Program gives the step by step details of how to, by hand, solve 1. ABSOLUTE VALUE statements of the form |A| = B, |A| > B,  |A| < B, and 2. Three part inequalities like A < B < C.                                  ==================================================================================================

Because of a disability, ALS, I did not update the TI 84 screens below. However, the TI 84 C screens will be similar.
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Other programs by this author are at 

http://www.ticalc.org/archives/files/authors/109/10933.html
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